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 (20 ) 

1.1 X

X X = 35  

 

A. 37.5 C 

 B. 58.2 C 

 C. 62.5 C 

 D. 87.5 C 

 

1.2 P Q P Q P   

 (1)  

 (2)  

 (3)  

 A.  (1) 

 B.  (2) 

 C.  (1)  (3) 

 D.  (2)  (3) 
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1.3 X Y

X Y 1:2 X Y

 

 

A. 1:6 

 B. 2:1 

 C. 2:3 

 D. 3:2 

 

1.4 40 g 0 C 300 g 75 C

 

   = 4200 J kg-1 C-1  

     = 3800 J kg-1 C-1 

     = 3.34 x 105 J kg-1 

 A. 55.2 C 

 B. 56.8 C 

 C. 63.3 C 

 D. 66.2 C 
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1.5 

 

 

 (1)  

 (2)  

 (3)  

 A.  (1)  (2) 

 B.  (1)  (3) 

 C.  (2)  (3) 

 D. (1) (2)  (3) 

 

1.6  

 (1)  

 (2)  

 (3)  

 A.  (1) 

 B.  (2) 

 C.  (1)  (2) 

 D.  (2)  (3) 

 

1.7 273 K 1 2.52 x 105 Pa

1.31 x 103 cm3  

 A. 1.73 x 105 Pa 

 B. 2.20 x 105 Pa 

 C. 3.44 x 105 Pa 

 D. 4.40 x 105 Pa 
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1.8  p  V  T 

( )  

A. 

 

B. 

 

C. 

 

D. 
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1.9 (a)  

 

 

 

 

 

 

 

(i)         (4 ) 

(ii)       (2 ) 

 

(b) X Y

X 200 kPa 20°C

Y 600 kPa 120°C  

 

X Y

              (4 ) 

 

 

 

 

 

 

  

200 kPa 

20°C 

X Y 

600 kPa 

120°C 
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 (20 ) 

2.1 

 

 

 (1)  X  

 (2)  X  Z  

 (3)  Y  

 A.  (1) 

 B.  (2) 

 C.  (1)  (2) 

 D.  (2)  (3) 

 

2.2  a  b 

 

 

  

 A.  E  

 B.  C  

 C.  B  H  

 D.  A  
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2.3

(1)

(2)

(3)

A. (1) (2)

B. (1) (3)

C. (2) (3)

D. (1) (2) (3)

2.4 A B P

P

A. 10 cm

B. 5 cm

C. 8 cm

D. 4 cm
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2.5   

 

 

 (1)  

 (2)  

 (3)  

 A.  (1)  (2) 

 B.  (1)  (3) 

 C.  (2)  (3) 

 D. (1) (2)  (3) 

 

2.6 h m

40 m s-1 8 s

h 340 m s-1  

 

A. 360 m 

B. 1200 m 

C. 1360 m 

D. 2720 m 
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2.7  

A.  

B.  

C. D  

 D.  

 

2.8  49° 

 1.33  
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2.9  (a) 650 nm  

500 2 m

5 s  

 

  (i) s                 (2 ) 

  (ii)              (2 ) 

 

(b) L X Y

 

 (i) L         (2 ) 

 (ii)            (2 ) 

 (iii) X Y       (2 ) 
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 R = 8.31 J mol 1 K 1 

 NA = 6.02  1023 mol 1 

 g = 9.81 m s 2  

 G = 6.67  10 11 N m2 kg 2 

 c = 3.00  108 m s 1 

 e = 1.60  10 19 C 

 me = 9.11  10 31 kg 

 0 = 8.85  10 12 C2 N 1 m 2 

 0 = 4   10 7 H m 1 

 u = 1.661  10 27 kg              (1 u 931 MeV) 

 AU = 1.50  1011 m 

 ly = 9.46  1015 m 

 pc = 3.09  1016 m = 3.26 ly = 206 265 AU 

  = 5.67  10 8 W m 2 K 4 

 h = 6.63  10 34 J s 

 

  

 

 

 v = u + at 

 s = ut + 2
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A1. E = mc T  D1. F =
2

0

21

4 r

QQ
  

A2. E = l m  D2. E =
2

04 r

Q
  

A3. pV = nRT  D3. E =
d

V
  

A4. pV = 2

3

1
cNm   D4. R =

A

l
  

A5. EK =
A2

3

N

RT
  D5. R = R1 + R2  

   D6. 
R

1
=

1

1

R
+

2

1

R
  

B1. F =
t

v
m =

t

p
  D7. P = IV = I2R  

B2.  = F  d  D8. F = BQv sin   

B3. EP = mgh  D9. F = BIl sin   

B4. EK = 2

2

1
mv   D10. B =

r

I

2

0   

B5. P = Fv  D11. B =
l

NI0   

B6. a =
r

v2
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C1. y =
a

D
 

 

 
E1. N = N0e kt  

C2. d sin  = n   E2. 
2

1t =
k

2ln
  

C3. 
vu
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=

f

1
  E3. A = kN 

 

 

   
E4. E = mc2  

 
 

 

 

 

 

 


